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1 210513 AMEE 4 4 4 2 2 2 2 2 2 8
2 181193 EAE 2 3 3 5 5 5 10
3 133154 INEIL=ENT 3 3 3 1 1 1 — RET 17 21
4 167322 1y — DNC 17 5 5 5 1 1 1 23
5 184018 FORNFEAER — DNC 17 6 6 6 4 4 4 27
6 160318 MARA 6 6 6 7 7 7 -— RET 17 30
6 199066 FA1RTH 9 9 9 4 4 4 -— RET 17 30
8 210516 REEA 1 1 1 — RET 17 — RET 17 35
8 217012 HEE 5 5 5 13 13 13 — RET 17 35
10 180159 ? -— DNC 17 -— DNC 17 3 3 3 37
10 194920 BHEA 8 8 8 12 12 12 -— RET 17 37
10 72713 HRRBE 10 10 10 10 10 10 — RET 17 37
13 220189 ININEF] 7 7 7 — RET 17 -— RET 17 41
14 151791 FRE — DNC 17 8 8 8 — RET 17 42
15 103917 INKRBE = DNC 17 9 9 9 -— RET 17 43
16 209502 MAB= — RET 17 11 11 11 — RET 17 45

B A 128128 128128 128128

RA—rEZ 11:46 12:48 13:41
G 200 & 170 & 220 £
JELE 1m/s 3m/s 10 m/s




